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0000 dpython3

OCpythonD OODOOOCOCODOOOOOOODOOUODOODOOOODOOCchar*o OOOcpythond O
OO0OObytesDOOOO

binascii b2a hex, a2b_hex

b = b'\x78\x79\x86\x88\xfa\x33\x45"' #0 byteld O 0O bytes, binascii.aZb hexO O

f'b.hex() = {b.hex()}"'
f'binascii.b2a hex(b) = {binascii.b2a hex(b)}"

b2a = b'78798688fa3345' #0000 0OO0Obytes, binascii.b2a hexO OO
a2b = binascii.a2b hex(b2a
f'binascii.a2b hex(b2a) = {binascii.a2b hex(b2a)}’

io.py2c test(az2b,7 #0cODOOOOODODObyte(azb)0 0 Obytesd O
Obinascii.b2a hexO O OO

OswigD.iD0OO0DO00O00D0O000000Occhar*O OO python bytestl 00 0O 0O O O unicode]0 0 0O O
O00O0OpythonD OOOOODOOOCODOODOOOOObytesDOOODOODOOODOOOOODOOO
O000checkDOODO0atin-100>0x800 00000 0O0utfBO OO0 DO OO byte0-2550 00000
oo

%sbegin %{
#define SWIG PYTHON STRICT BYTE CHAR
%}

00000000 DO000000 char*OO0OOunsignedchary, 00000 cOOOOODOOO
O 0O 0O 0O d unsigned char *[]

void py2c test(char * tdi bytes, int bytes size

int i
printf("mpsse.c:: python to c bytes size = %0d\n", bytes size
1=0;i<bytes size; 1
printf("mpsse.c:: python to c¢ (unsigned char ) = %0x tdi bytes =
%0x\n" unsigned char )tdi bytes[i|, tdi bytes|i


http://www.opengroup.org/onlinepubs/009695399/functions/printf.html
http://www.opengroup.org/onlinepubs/009695399/functions/printf.html
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